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1. BRI
(1) EXRBEERE 25,889,125 25,889,125 0
HAPREZIHE 175,500 175,500 O|EHrEeFIE KIRAFAMEF A
HAREZDNELE 25,713,625 25,713,625 O|B=sE%GrrEi4S
(2) ZWMHFHE 0 7,000,000 | A 7,000,000
SZWMESE 0 7,000,000 A 7,000,000
(3) HEARBAEELARUNA 0 2,669,398 | A 2,669,398
HARBAERARUNA 0 2,669,398 A 2,669,398
(4) EEBEIIEERGEIA 0 7,500,000 | A 7,500,000
FEBIEEWEBIA 0 7,500,000 A 7,500,000
%x.‘%"%;lﬁ%'l' 25,889,125 43058,523] A 17,169,398
2. Tt h Fﬁ
1) =x%E 22,330,000 33,050,000 [ A 10,720,000
HEBIRE 13,000,000 20,000,000 A 7,000,000|30FE FEEL£ATD K
ERBHEBRE 2,600,000 5,000,000 A 2,400,000|30E £ EX£FTDKE
XAtBhE 4,400,000 5,000,000 A 600,000|30E ZEEX£ADKHE
BEXREE 300,000 300,000 0
FEHEMRE 100,000 100,000 0
EXEARINAKE 500,000 1,000,000 A 500,000
EXREXBE 700,000 700,000 O|E=m-2%
EXBEE 200,000 220,000 A 20,000
EXHEE 500,000 700,000 A 200,000
BEME 30,000 30,000 0| EIRAKZ
(2) E1EE 3,560,000 3,560,000 0
& B R 800,000 800,000 O|FE=E-#a %
WHWHRFSH 480,000 480,000 O|=HBRERS
HFEH 650,000 650,000 O|mERI ¥
EXBERE 120,000 120,000 0
REE 300,000 300,000 OlissERE
BIEE 100,000 100,000 0
REXEBEE 150,000 150,000 olE%E
HELE 100,000 100,000 O|l=%ERER
EEH 600,000 600,000 O|=EHFRE
SeEIK B 60,000 60,000 0
HE 200,000 200,000 0
BEEHE 25,890,000 36,610,000/ A 10,720,000
L B FE B £ A 875 6,448,523 A 6,449,398
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1. #EENINE
RESINEEET 0 0 0
2. BENER
RENERET 0 0 0
L RE N R 0 0 0
35 HA— A% IE LR B EE 1R AR A 875 6,448,523 A 6,449,398
—RERMEHERS 30,150,099 23,701,576 6,448,523
— AR IECRBAEHIR RS 30,149,224 30,150,099 A 875
I $57FIEBREAEEIE R DER
HAPREZIHER 175,500 175,500 0
HAPRESZNELE 25,713,625 25,713,625 0
ZEHE 0 0 0
— R IERRBAEE~NDIREEE A 25,889,125 A 36,058,523 10,169,398
L HAYE F IE LR B EE 1 R EE 0 A 10,169,398 10,169,398
R ERMERERS 746,654,620 756,824,018] A 10,169,398
IEEERMERRES 746,654,620 746,654,620 0
I EREIEHRES 776,803,844 776,804,719 A 875




